
ArbeitsblattArbeitsblatt
kgV und ggTkgV und ggT

  

ggT(18;30) =ggT(18;30) =  kgV(36;4) =kgV(36;4) =  

  

ggT(14;14) =ggT(14;14) =  kgV(56;80) =kgV(56;80) =  

  

ggT(7;6) =ggT(7;6) =  kgV(7;6) =kgV(7;6) =  

  

ggT(1;2) =ggT(1;2) =  kgV(10;3) =kgV(10;3) =  

  

kgV(10;35) =kgV(10;35) =  ggT(70;50) =ggT(70;50) =  

  

kgV(4;28) =kgV(4;28) =  kgV(48;56) =kgV(48;56) =  

  

ggT(6;20) =ggT(6;20) =  kgV(54;9) =kgV(54;9) =  

  

ggT(12;30) =ggT(12;30) =  ggT(7;10) =ggT(7;10) =  

  

kgV(54;27) =kgV(54;27) =  ggT(14;2) =ggT(14;2) =  

  

ggT(56;48) =ggT(56;48) =  kgV(6;6) =kgV(6;6) =  

http://www.mathe-lerntipps.de/http://www.mathe-lerntipps.de/



ArbeitsblattArbeitsblatt
kgV und ggTkgV und ggT

  

ggT(18;30) =ggT(18;30) = 66 kgV(36;4) =kgV(36;4) = 3636

  

ggT(14;14) =ggT(14;14) = 1414 kgV(56;80) =kgV(56;80) = 560560

  

ggT(7;6) =ggT(7;6) = 11 kgV(7;6) =kgV(7;6) = 4242

  

ggT(1;2) =ggT(1;2) = 11 kgV(10;3) =kgV(10;3) = 3030

  

kgV(10;35) =kgV(10;35) = 7070 ggT(70;50) =ggT(70;50) = 1010

  

kgV(4;28) =kgV(4;28) = 2828 kgV(48;56) =kgV(48;56) = 336336

  

ggT(6;20) =ggT(6;20) = 22 kgV(54;9) =kgV(54;9) = 5454

  

ggT(12;30) =ggT(12;30) = 66 ggT(7;10) =ggT(7;10) = 11

  

kgV(54;27) =kgV(54;27) = 5454 ggT(14;2) =ggT(14;2) = 22

  

ggT(56;48) =ggT(56;48) = 88 kgV(6;6) =kgV(6;6) = 66
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